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QID:1-

In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

ST vy A faw o frreul & @ uyr R
(?) & TG W WS aqrel TEA B G|

19 | 20 | 21
361|400 | 441
363|402 7

Options:

1) 405

2) 603

3) 443

4) 442

Correct Answer: 443
Candidate Answer: 443

QID:2-
How many triangles are there in the given figure?

&1 o s & fred g 7

T@7

Options:
1)8

2)6
3)5

4)9
Correct Answer: 5
Candidate Answer: 5
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QID:3-

A word is represented by only one set of numbers as given in any one of
the alternalives. The sets of numbers given in the alternatives are
represenled by lwo classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-1 are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘C’ can
be represented by 01, 85, etc., and ‘U’ can be represented by 20, 97, etc.
Similarly, you have to identify the set for the word “GEEKY".

TF Acg dhdd TP GEAT-IAE ST e ar & star © fOwedt # &
frer T 3 fem mar ¥ Reedt & BU ov dmn-gey 3eRT & gy ant
gRY v v €, S fF Gu e gy oneqEl # 1 I F wasd 3R
i 6T FEaT 0 T 4 ¥ IR InSgEI B 5 F Q1 I I § TH WA
W Ugd 3HH GRR INR 9 A FaEN T g7 g T o e G
SETELor @& feU “C' & 01, 85, 3T GRT GRFT S Fhell § aam ‘U i 20,
97, G ERT Gl M Wham ©| W e & s ud 7 U g
“GEEKY” & ol G#g = UgaEer ol

Matrix-1 Matrix-Il

-1 el
0|1(2|3|4 S|6|7(8(9
o|lY|C|W|G| I S5|X|K|D|F|R
1MEIM|[O|Q|S 6 |GIW|N|H|V
2IUIW|Y|B|A TIE[O|Y|J|T
3|FIH|G|L|N 8|C|F|I|L|E
4/ DIR|T|V|O 9|K|S|U|N|P

Options:
1) 32, 01, 89, 56, 22

2) 03, 89, 10, 33, 32
3) 65, 10, 75, 95, 00

4) 58, 75, 59, 56, 77
Correct Answer: 65, 10, 75, 95, 00
Candidate Answer: 65, 10, 75, 95, 00

QID: 4-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7 s Al # @ 3W I Mgl @& g
orw d uw gl Bfea &

<L
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Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:

QID:5-
Which answer figure will complete the pattern in the
guestion figure?

Hd H A B T B & TawT B G
FEN?

-~
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Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:

QID:6-
[f a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afg we gUUT @ AB Tam WT @ ST, dar & e
Ta¥ GOt # W Hid W At uy el
TG UfaTdda aen?

hal

oW
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Options:

[
~

2)

3)

4)

pK

Correct Answer:

[

Candidate Answer:

pX

QID:7-
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ B ouy apfaal # REw 3gER wee @
ANEhT Dl AT Wikt & aOIG ag *hT 3o HTgia
Sar feard game

ENIRNIES

I ek ame. 5 it A i oot e I 5
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Options:
1)

2)

3)

4)

aRZanZ2n%

Correct Answer:

V

Candidate Answer:

V

QID : 8 - If 'P' means "', 'Q" means '+', 'R' means '+' and 'S’ means 'x’, then
4R9S3P4Q2="7?
IfE P T ', 'Q T 3T ', R '+ AT 'S Y %' Y, ar

4R9S3P4Q2=7?
Options:

Correct Answer: 29
Candidate Answer: 29

QID:9-If11P3Q2=12and9P2Q5 = 6, then
21P11Q9="?
I 11P3Q2=12M9P2Q5=64), ar

21P11Q9=7?
Options:

1) 27

2) 25

3)32

4)23

Correct Answer: 23
Candidate Answer: 23




11/25/2017 Staff Selection Commision

QID : 10 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Expense
2. Expensive
3. Expand

4. Expanded
5. Extra

TFATeIfreT Qreal T QeI H 3TeT alet A & HTaR ford|

1. Expense
2. Expensive
3. Expand

4. Expanded
5. Extra

Options:
1) 43125

2) 34125
3) 43215

4) 34215
Correct Answer: 34125
Candidate Answer: 34125

QID : 11 - In the following question, select the missing number from the given series.
27,29,32,37,44,?
farAfafe yea F U a1v fashedl & & oed 3i% A Hfaw

27,29,32,37,44,?
Options:

1) 49

2)63

3)55

471
Correct Answer: 55
Candidate Answer: 49

QID : 12 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
MNO, PQR, TUV, YZA, ?
Teh 3efehd 1T 71T ¥, TSI & Ueh 9 ofedl ¥ foT 10 fashedt 3 & g @ e YT, S 3efshet 1 QU |

MNO, PQR, TUV, YZA, ?

Options:
1) EFM

2) EFG
3) FGH

4) FGI
Correct Answer: EFG
Candidate Answer: EFG

QID : 13 - In the following question, select the odd word from the given alternatives.

TrATaRad 9o # feu e fashed’ # @ fave ase &1 =)
Options:

1) Biscuit

faege

2) Rusk

IEh

3) Cake

FF

4) Candle

AT

Correct Answer: Candle
HrFsedr

Candidate Answer: Rusk
&R
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QID : 14 - In the following question, select the odd number pair from the given alternatives.

Terafaiee yea 3 U 1w fashedl & & fawey dear oot &1 giav|

Options:
1) 22 - 485

2) 16 - 259
3)12-145

4)6-37
Correct Answer: 16 — 259
Candidate Answer: 16 — 259

QID : 15 - In the following question, select the odd letters from the given alternatives.

Terafaie gea # U 1w fashed] o & fwey 3y &1 gfaw

Options:

1) CY

2) KO

3)JP

4) GT

Correct Answer: GT
Candidate Answer: KO

QID : 16 - Identify the diagram that best represents the relationship among the given classes.

Birds, Parrot, Tiger

T 3G AT S oA T a1w g9t & v & Haer 1 Agr oot S g

g&fl, arar, are

Options:
1)

@

2)

QD

-
O

©

Correct Answer:

©)o

Candidate Answer:

QID : 17 - In the following question, select the related word from the given alternatives.

4)

Flour : Wheat : : Sugar: ?
oAt aea # 7o 10 fashed # @ Haifer e 1 giav|

m:ﬂi::ih?h:?
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Options:
1) Sea
A g

el

2) Sugarcane
Eice

3) Sweet
#Hror

4) White
The

Correct Answer: Sugarcane
AT

Candidate Answer: Sugarcane

Elcil

QID : 18 - In the following question, select the related number from the given alternatives.
5:26::1:7?

TerAfafad geaT # fou e fashedt & @ et dear i givl

5:26::1:7?

Options:

1)21

2) 10

3)3

4)2
Correct Answer: 2
Candidate Answer: 10

QID : 19 - In the following question, select the related letters from the given alternatives.

SHARE : TGBQF : : MALE : ?

et wea 7 R e Rewedt 7 § wafta 3wt @ g
SHARE : TGBQF : : MALE : ?

Options:

1) NOPQ

2) NZMF

3) LZMD

4) NZMD
Correct Answer: NZMD
Candidate Answer: NZMF

QID : 20 - In the following question, select the word which cannot be formed using the letters of the given word.

PARAMOUNT
AT el & & dg 2ree 9iAT it 3T 370 2ree; o 31&RT &1 FE9T e 61 =T SIT Hebell|

PARAMOUNT
Options:
1) PART

2) MOUNT
3) TEAM

4) PARAM
Correct Answer: TEAM
Candidate Answer: TEAM

QID: 21 - Bis 4 years older to C. C is 6 years younger to D. D is 2 years older to E. E is 7 years younger to F. Who is the eldest?

B,CU4a¥asTgIC,DY6aT BT D, EX 29 asT &I E, FA 7 a¥ ©IeT §| T 98T hiT &7

Options:
1)D

2)F
3)E

4)B
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Correct Answer: F
Candidate Answer: B

QID : 22 - Saurav walks 36 km towards south. He turns left and walks another 36 km. He turns left and walks another 36 km. In which direction is he from his
starting point?

Hia SFEI0T T 3T 36 6.0, =TT &1 g a1l 3R H3ar & oAT 36 Th.0. 3R Tefcl 1 F¢ 9l 3 7T & 72 36 fR.al, SR =erem ¥ a5 3= IR fomg W fover
e # §?
Options:

1) North
IR

2) East

kS

3) South-East
AL

4) West
9f¥aH

Correct Answer: East

G

Candidate Answer: East

LGl

kN

QID : 23 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. Some red are green.
II. All red are yellow.

Conclusions:
1. Some green are yellow.
II. Some green are not red.

oA forw 1T et 7 Fo FU R 379 A1 37 FYA W INUNA F6 folvhe G 71T §, FTeifeh 3o WA AT T § Fowielm g Fhel &1 i v 0 3k B
e a o faw v sla & Ty, faw o @eail & amaR o) gl 8

fYel:
L o A & €l
11. |afr afrel 91§

fasHy:

Lga s 9o gl

11 $& g <1l 78 &

Options:

1) Only conclusion (I) follows.

Faer faswy (1) TE R

2) Only conclusion (II) follows.

herel forsey (11) e &1

3) Both conclusion follow.

2t & oy wEr Bl

4) Neither conclusion (I) nor conclusion (II) follows.
1 ar TSy (1) 71 & TSy (1) Ter gl
Correct Answer: Only conclusion (I) follows.
ad Ashy (1) TEr &1

Candidate Answer: [ NOT ANSWERED ]

QID : 24 - In a certain code language, 'god’ is written as 'human’, 'human’' is written as 'red’, 'red' is written as 'pink’, 'pink’ is written as "temple’ and
‘temple’ is written as 'tomato'. Where do we worship?

T RATAISE IS 7O 3, "$RET F AT, HSA' H AT, WA FY AN, TN AR TUT AR Y ATy’ o el §1 g ToN FEl A o7
Options:

1) temple

Afex

2) pink

sy

3) tomato

THIX

4) red

KIE)

Correct Answer: tomato
THIY

Candidate Answer: tomato
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QID : 25 - In a certain code language, "WALK" is written as "46" and "TRAP" is written as "54". How is "STOP" written in that code language?

T fafrse iz ST &, "WALK" T "46" TT "TRAP" & "54" oG ST €| 39 i3 39T & "STOP" & f5d YR for@r srwam?
Options:

1) 49

2)55

3) 69

4)72
Correct Answer: 69
Candidate Answer: 69

QID : 26 - Which of the following is not a prime number?

FAfAEd & O Sl T I7ToT AT AT &7

Options:
1) 87

2) 61
3)79

4) 89
Correct Answer: 87
Candidate Answer: 79

QID : 27 - What is the value of [(6.5)3 + (4.7)3] + [(6.5)% - 6.5 x 4.7 + (4.7)2]?

[(6.5)3 + (4.7)3] + [(6.5)2 — 6.5 x 4.7 + (4.7)2] &1 AT FAT§?

Options:
1)11.2
2) 13.5
3)12.7
4)13.2

Correct Answer: 11.2
Candidate Answer: 12.7

QID : 28 - Which of the following statement(s) is/are true?

L (V9—V6) > (V6 —V3)
IL (V6 — V9) > (V3 — V5)

AFAfafad F § Sl a1/d w3 e 8/8?2

1. (V9 -+v6) > (V6 —V3)

1L (V6 — V9) > (V3 — V5)
Options:

1) Only I

Faer I

2) Only II

Faer I

3) Both I and II

1 3 11 =t

4) Neither I nor II

AAITEI

Correct Answer: Neither I nor IT
ANITEI

Candidate Answer: Neither I nor II

aAAIAE

QID : 29 - How many positive factors of 112 are there?

112 % fhciet &ATcateh JUTES §?

Options:
1)9

2) 10
3)8

4)7
Correct Answer: 10
Candidate Answer: 8
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QID: 30-

What is the value of \/256+«,‘484+ 1217

\/256+«;’484+ 21 &1 AT T &2

Options:
1) 16

2)18
3)17

4) 19
Correct Answer: 17
Candidate Answer: 19

QID : 31 - How many numbers are there from 11 to 131 which are divisible by both 5 and 7?

11 & 131 T T fohcet TEat § S 5 2T 7 et & fasrsy gidr 82
Options:

14

2)3

3)2

4)5

Correct Answer: 3

Candidate Answer: 2

QID : 32 - P alone can do a work in 60 days. P is 40% less efficient than Q. In how many days can Q alone do the same work?

P U 1T & 37T 60 =T 3F 9 X AT 51 P, Q#40°/oma?rzi?f%m%| Q 37l 38 F H fohctel fett # O Fam?
Options:

1) 40

2) 38

3)35

4) 36

Correct Answer: 36

Candidate Answer: 36

QID : 33 - Two pipes A and B can alone fill a tank in 6 hours and 9 hours respectively. Pipe C can alone empty the same tank in 6 hours. If all three pipes are
opened together, then in how many hours will the tank be filled?

S1 ITST A T B Tk ShT T 3ichel shaTel: 6 EHE AT 9 B F 3R Thd &1 I1$T C 3T S T 31ehol 6 B H Wil I TehaTl &1 Tl T Nt Ir$ul oY vk 9y et fear
S, o S a1 7 #) SR

Options:

1)9

2) 18

3)8

4)6

Correct Answer: 9

Candidate Answer: 6

QID : 34 - If the area of an equilateral triangle is 60v3 m?2, then what is the value (in metres) of its height?

e el woaTg et &7 a1k 60V3 M2, A 3T Fars F AT (e F) wrE?
Options:

1) 4/5

2) 5v5

3) V30

4) 6v5

Correct Answer: 6V5
Candidate Answer: V30

QID : 35 - A profit of 20% is made after giving a discount of 10% on an article. If the marked price of the article is Rs 2240, then what is its cost price (in Rs)?

Teh I R 10% T e & & TR 20% T T BT | T T T 3iTehed FHed 2240 T §, A SHHT 30 3 (T H) FAT 82
Options:

1) 1720

2) 1680

3) 1740

4) 1800

Correct Answer: 1680

Candidate Answer: 1680 e —r——————————————————————— ————
I s A S i s e L )
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QID : 36 - An article has marked price of Rs 7500 and is available at a discount of 20%. The shopkeeper gives another discount to the buyer and sells the article for
Rs 5100. What is the second discount (in %) offered?

T aeq & R 7T 7500 T § AUT 20% Y FE T 3T | GHAGR A Y ek ITARTFA Fe &all & I aeg &1 5100 T 3 9 &ar &1 g R & 915 5 (% )
foreret &2

Options:

1) 10

2) 15

3)12

4) 20

Correct Answer: 15
Candidate Answer: 15

QID : 37 - The ratio of two positive numbers is 4 : 7. Their product is 4732. What is the smallest number?

2 eATCHE HEATHT FT I 4 & 7 & 3T IOTAher 4732 T BIEY TEAT T 82
Options:

1) 143

2)52

3)91

4) 104
Correct Answer: 52
Candidate Answer: 104

QID : 38 - If the sum of two numbers is equal to six times of their difference, then what is the ratio of the given numbers?

afe &Y THEATHT &7 9T 357% I F TF I & aEK g, o & 915 HEATHT FT eI 1 52

Options:

1)7:5

2)3:4

3)5:6

4)4:1

Correct Answer: 7 : 5

Candidate Answer: [ NOT ANSWERED ]

QID : 39 - The average age of a class is 21 years. If a student with age 42 years joins the class, then new average age becomes 24 years. How many total students
are there in the class?

Te T ST 3T IR 21 ¥ §1 AR 42 A I AT OF ST FAT H A & S §, A A2 e g 24 7§ g Sl ¥ T F Fiof e o 82

Options:

1)5

2)7

3)8

4)6

Correct Answer: 6
Candidate Answer: 6

QID : 40 - A sold a car to B at a profit of 20%. B sold the car to C at a loss of 10%. If C pays Rs 432 for car, then for how much (in Rs) A bought the car?

A= B I 20% F W8T WX Uk I S| B o C T 10% T gifay I R 9= & C R % FAIw 432 € FHram &, aF A o foretat (& #) & e @iy 4

Options:
1) 303.3

2) 400
3) 200

4) 252.25
Correct Answer: 400
Candidate Answer: 200

QID : 41 - If oranges are bought at the rate of 9 for a rupee, then how many oranges must be sold for a rupee so as to gain 12.5%?

IfE vk T0d & 9 Y e A Gt @Y o §, Y Uk oo & fahder Ha¥ <1 SR T 12.5% T T 817

Options:
1)7

2)6
3)8

4)4
Correct Answer: 8

Candidate Answer: 8 P e T SRS T




11/25/2017 Staff Selection Commision

QID : 42 - A number is decreased first by 30% and then it is again decreased by 30%. What is the percentage change in the number?

Teh HEAT T g 30% W T ST & FAT Y 38 G7: 30% § T SIIell &1 FEar # ety gfcreret TRaei g3 &2
Options:

1) 60% decrease

60% <hT T

2) 51% decrease

51% hr et

3) No change

g TRacT g

4) 66% decrease

66% &Y Far

Correct Answer: 51% decrease
51% <hr AT

Candidate Answer: 60% decrease
60% Fr HaT

QID : 43 - Two numbers are 10% and 20% less than the third number respectively. First number is what percent of the second number?

T HEATE T el TEAT & T 10% TAUT 20% H | Tgeil HE&AT, Gu HEAT H feter wfvera 82

Options:
1) 112.5
2) 115
3) 108.5
4) 105

Correct Answer: 112.5
Candidate Answer: 108.5

QID : 44 - A car travels at a speed of 50 m/s. for 5 hours. What is the distance (in km) travelled by the car?

T FR 50 7T/, i afd F 5 G0 aF o §1 FR g@n et g (Rl ) aa fr g §?

Options:
1) 1000
2) 900
3) 990
4) 500

Correct Answer: 900
Candidate Answer: 900

QID : 45 - A 700 metre long train crosses an 800 metre long bridge in 27 seconds. What is speed (in km/hr) of the train?

700 #HreX oIl T YeRTEY Tk 800 FHIeT ofFl ol I 27 HehvUs H R cll o Yerammsy oy afey (Rr. . /et &) s/ §2

Options:

1) 180

2) 200

3) 250

4) 175

Correct Answer: 200

Candidate Answer: 175

QID : 46 - What is the sum (in Rs) of money which will become Rs 29160 at the rate of 8% per annum at compound interest in two years?

TF LI (3 H) FAT § S aF vt 7 8% i a1f¥ien sarer o @ Tghe s W 29160 F g1 Seir?

Options:
1) 25000

2) 26000
3) 28000

4) 20000
Correct Answer: 25000
Candidate Answer: 26000
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QID: 47 -
The pie chart given below shows the distribution of
students who like the given 5 sports. The total
number of students is 960.

A faT v g By # v v 5 fdew @t Fr
JHE I arel oEmidl & f¥ewer & geiar TR
g1 RrenfSat &r er wear 960 21

Football/ Cricket/
Feard, 108° forere, 90°
Rugby/ Golf/
. 54 e, 72°
Polo/
e, 36°

What is the difference between the nhumber of students who like Cricket and those who like Golf?

Tohthe Te; et aTer 2T IMeth URe el aTel faeTea Sl TEAT & AT 3% F4T &2

Options:
1)72

2) 50
3)48

4) 90
Correct Answer: 48
Candidate Answer: 50

QID: 48 -
The pie chart given below shows the distribution of
students who like the given 5 sports. The total
number of students is 960.

7@ faw ow ga By & T v 5 Rfgea @t s
THE HA drer faenfdmt & faawer @ gerar T
¢l frenfdar #r Hor dEar 960 2

Football Cricket/
e, 108° ferehe, 90°
Rugby/. Golf/
T, 54 3o, 72°
Polo/
e, 36°

The number of students who like Golf is how much percent more than the number of students who like Rugby?

et JHg et aTer [zl H Hear e 9ug et arer fagzn¥at Fr gwar & fraer ufaere siftes 82

D A e R e A i R
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Options:
1) 25
2)50
3)33.33
4) 66.66

Correct Answer: 33.33
Candidate Answer: 25

QID:49-
The pie chart given below shows the distribution of
students who like the given 5 sports. The total
number of students is 960.

7 fov v g Ry 7 e 7w 5 Rffea It & r
THE FIS arer foenfd=i & faavor v gafar s
g1 ferenfdat #$r Hor d@=ar 960 g1

Football/ Cricket/
eaid, 108° ferehe, 90°
Rugby/ Golf/
e, 64 aiets, 72°
Polo/
e, 36°

What is the average number of students who like Golf and Cricket?

et 2T fShehe ToE FeT arel faeanRit 7 sifaa sear #1 §?

Options:
1) 240

2) 432
3) 192

4) 216
Correct Answer: 216
Candidate Answer: 216
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QID: 50 -
The pie chart given below shows the distribution of
students who like the given 5 sports. The total
number of students is 960.

A faT v g By # v v 5 fdew @t Fr
JHE I arel oEmidl & f¥ewer & geiar TR
g1 RrenfSat &r er wear 960 21

Football/ Cricket/
Feard, 108° forere, 90°
Rugby/ Golf/
. 54 e, 72°
Polo/
e, 36°

The total number of students who like these 2 sports is equal to the number of students who like Cricket. Which are these 2 sports?

5T 2 el Y TG e arel faentiat r Hear e 9ag FYe arer et fr 5 & R 81 9% 2 YA FiT 2
Options:

1) Golf and Football

TNt AT Heaiier

2) Rugby and Polo

T gAr arelr

3) Cricket and Golf

Thehe T aiteh

4) Polo and Golf

qiell AT Mew

Correct Answer: Rugby and Polo

Toet e e

Candidate Answer: Golf and Football
e T Hesier

QID : 51 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

As children tend to be highly impressionistic (1)/ one must be very careful for doing (2)/ or saying anything in their presence (3)/ No Error (4)
Options:

1H1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: 4

QID : 52 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

An act of kindness (1)/ never gone (2)/ wasted (3)/ No error (4)
Options:

1)1

2)2

3)3

4) 4

Correct Answer: 2

Candidate Answer: 2

QID : 53 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

My daughter Meera really wants dog for Christmas.

I ek ame. 5 it A i oot e I 5
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Options:

1)a

2)an

3) the

4) No option is correct.

Correct Answer: a
Candidate Answer: a

QID : 54 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

A lively person is always great company.
Options:

1)a

2)an

3) the

4) No option is correct

Correct Answer: a

Candidate Answer: an

QID : 55 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Gravity

Options:
1) Depth

2) Charge
3) Brevity

4) Sheen
Correct Answer: Depth
Candidate Answer: Depth

QID : 56 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Quack
Options:
1) Discharge

2) Exhausted
3) Knave

4) Fake
Correct Answer: Fake
Candidate Answer: Exhausted

QID : 57 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Yoke
Options:
1) Detach
2) Harness

3) Release

4) Liberate
Correct Answer: Harness
Candidate Answer: Detach

QID : 58 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Servant
Options:
1) Mister

2) Master
3) Minister

4) Matter
Correct Answer: Master
Candidate Answer: Master

QID : 59 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Tragedy

/
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Options:
1) Pathos

2) Fortune
3) Unfortunate

4) Damage
Correct Answer: Fortune
Candidate Answer: Unfortunate

QID : 60 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Fugitive
Options:
1) Evanescent

2) Captive
3) Unkempt

4) Smart
Correct Answer: Captive
Candidate Answer: Smart

QID : 61 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

At the drop of a hat
Options:
1) Doing something without any hesitation

2) Doing something after much thought
3) Doing something as a favour

4) Doing nothing
Correct Answer: Doing something without any hesitation
Candidate Answer: Doing nothing

QID : 62 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

All and sundry
Options:
1) Everybody without distinction

2) Only rich person
3) Together

4) Great discrimination
Correct Answer: Everybody without distinction
Candidate Answer: Together

QID : 63 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

I believe in the existence of God and (can be seen praying to God everyday)
Options:

1) is seen praying everyday

2) pray to God daily

3) has praying to God daily

4) No improvement

Correct Answer: pray to God daily

Candidate Answer: pray to God daily

QID : 64 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

Since 2001, there (is) no massive earthquakes in India.
Options:

1) has been

2) were being

3) are

4) No improvement

Correct Answer: are
Candidate Answer: has been

QID : 65 - In the following question, out of the four alternatives, select the alternative which is best substitute of the phrase.

Compelling attractiveness or chym
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Options:
1) Calibre

2) Charisma
3) Magic

4) Mystery
Correct Answer: Charisma
Candidate Answer: Magic

QID : 66 - In the following question, out of the four alternatives, select the alternative which is best substitute of the phrase.

The state or situation of being alone
Options:
1) Gravity

2) Charge
3) Cheap

4) Solitude
Correct Answer: Solitude
Candidate Answer: Solitude

QID : 67 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Fatalility

2) Fatelity
3) Fetality

4) Fatality
Correct Answer: Fatality
Candidate Answer: Fatality

QID : 68 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Generasion

2) Genertion
3) Generation

4) Jeneration
Correct Answer: Generation
Candidate Answer: Generation

QID : 69 - The question below consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent paragraph. Select the most
logical order of sentences from among the options

Belief

P: is @ must

Q: to succeed in life
R: in one's self

Options:
1) QrRP

2) RQP
3) RPQ

4) QPR
Correct Answer: RPQ
Candidate Answer: RPQ

QID : 70 - The question below consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent paragraph. Select the most
logical order of sentences from among the options

The Valley of Flowers

P: place to visit

Q: during the summer season
R: is a great




11/25/2017 Staff Selection Commision

Options:
1) QRP

2) RPQ
3) PQR

4) QPR
Correct Answer: RPQ
Candidate Answer: RPQ

QID : 71 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Students who take their studies seriously do in their exams and get a head-start in life. You will notice that most of those who get into the
like administrative, foreign, revenue, education, engineering, police and other posts of the bureaucracy were among the in their classes. Others who do
equally well or better in like law or medicine, have to make up by studying and working in later life. There are no shortcuts to success.

Students who take their studies seriously do in their exams

Options:
1) bad

2) worse
3) well

4) None of the option is correct.
Correct Answer: well
Candidate Answer: well

QID : 72 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Students who take their studies seriously do in their exams and get a head-start in life. You will notice that most of those who get into the

like administrative, foreign, revenue, education, engineering, police and other posts of the bureaucracy were among the in their classes. Others who do
equally well or better in like law or medicine, have to make up by studying and working in later life. There are no shortcuts to success.
who get into the like

Options:

1) best services

2) mediocre services

3) low occupation

4) No option is correct

Correct Answer: mediocre services

Candidate Answer: best services

QID : 73 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Students who take their studies seriously do in their exams and get a head-start in life. You will notice that most of those who get into the
like administrative, foreign, revenue, education, engineering, police and other posts of the bureaucracy were among the in their classes. Others who do
equally well or better in like law or medicine, have to make up by studying and working in later life. There are no shortcuts to success.

other posts of the bureaucracy were among the in their classes.

Options:
1) idler

2) laggards
3) toppers

4) No option is correct.
Correct Answer: toppers

Candidate Answer: toppers

QID : 74 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Students who take their studies seriously do in their exams and get a head-start in life. You will notice that most of those who get into the
like administrative, foreign, revenue, education, engineering, police and other posts of the bureaucracy were among the in their classes. Others who do
equally well or better in like law or medicine, have to make up by studying and working in later life. There are no shortcuts to success.

like law or medicine

do equally well or better in _ k or e . _ _ :
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Options:

1) professions

2) disavowal

3) negation

4) No option is correct
Correct Answer: professions

Candidate Answer: professions

QID : 75 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Students who take their studies seriously do in their exams and get a head-start in life. You will notice that most of those who get into the

like administrative, foreign, revenue, education, engineering, police and other posts of the bureaucracy were among the in their classes. Others who do
equally well or better in like law or medicine, have to make up by studying and working in later life. There are no shortcuts to success.
have to make up by studying and working in later life

Options:

1) harder

2) easier

3) robust

4) No option is correct
Correct Answer: harder
Candidate Answer: harder

QID : 76 - Which of the following places of Indus Valley Civilization is located in India?

ARl ¥ fiy weaer 1 Hle-ar v $Ra F Rua §?
Options:

1) Harappa

gsoar

2) Mohenjodaro
Higetailgsr

3) Lothal

e

4) No option is correct.
F1$ off ke wET 1T 1
Correct Answer: Lothal

et

Candidate Answer: Mohenjodaro

Agersiegt

QID : 77 - Where did Siddhartha (Buddha) get enlightenment?

e (q) 1 1 et gl g8 o ?
Options:

1) Varanasi

JRIOTEY

2) Saranath

AT

3) Kushinagar

FATIR

4) Gaya

arar

Correct Answer: Gaya
T

Candidate Answer: Gaya
Iar

QID : 78 - The closest astronomical object to the Earth is

g2dl & Fad ehedd @aely Aus § I
Options:

1) Proxima Centauri

HFTAT Arey

2) Moon

oG AT

3) Venus

e

4) Sun

T

LN

Correct Answer: Moon
Tog AT
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Candidate Answer: Moon
TogHAT

QID : 79 - Asia's highest mountain peak is

R AR W HaT ada Ry |
Options:

1) Gadwin Austin

sfae 3ieesT

2) Mount Everest

AT TawT

3) Kanchanjunga

SHTToTar

4) Nandadevi

e

Correct Answer: Mount Everest
AT TaET
Candidate Answer: Mount Everest

AT TaEe
QID : 80 - Name the representative of the princely states who did NOT participate in the Constituent Assembly?

wiaersr g & forw &2t Raraa & sfafafer o smer adh fomm ar ?
Options:

1) Cooch Behar

EEAEE

2) Kashmir

FAT

3) Hyderabad

[CRIEICH

4) Mysore

Eakicy

Correct Answer: Hyderabad
[ERIEICY
Candidate Answer: Kashmir

FIHR

QID : 81 - The President's rule has its origin in which of the following nations?

IETLTCHF emmmaﬁmﬁm&erﬁ-@m
Options:

1) Yugoslavia

ZaEeaAr

2) Egypt

ez

3) Switzerland

Facsrels

4) United States of America

TYFT TS ITHRHT

Correct Answer: United States of America
TYFT s 3THRHT

Candidate Answer: United States of America
YT T TARHT

QID : 82 - What type of unemployment at present is a serious threat to the development of Indian nation?

TR TAT 7 R TR T RIS AR g & v aiefiw ol §2
Options:

1) Rural unemployment

AT SRISTITRY

2) Urban unemployment

AE RSy

3) Educated unemployment

RIS SRIsemr

4) Open unemployment

el SRy

Correct Answer: Educated unemployment

RIfETT SRS

Candidate Answer: Educated unemployment

IRIGEENEEI
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QID : 83 - Cheap Money refers to

FE F2T (Cheap Money) & dlcwd & I
Options:

1) Low rate of interest

SITST T & &3

2) Low level of savings

T HT T T TR

3) Low level of income

3 T oot T

4) Low living standard

e Shaet &)

Correct Answer: Low rate of interest
TS fT FA T

Candidate Answer: Low level of income
31T T et T

QID : 84 - The chemical property of an element depends on

el Tea & Tt T fAeT el B
Options:

1) Atomic mass

GHAT] ZEHHIA TR

2) Atomic number

SRAT] HEAT R

3) Mass number

SSIATT TEAT W

4) Atomic weight

TRHAT] $R T

Correct Answer: Atomic number
SRAT] HEAT R

Candidate Answer: Atomic mass
SRHATY] GEAATT TR

QID: 85 - turns the blue litmus paper into red.

rer foreTg O T ol W & &1
Options:
1) Acid
HFT
2) Base
oA
3) Alkali
&
4) Salts
e
Correct Answer: Acid
HFT

Candidate Answer: Acid
HFT

QID : 86 - What is measured with the help of decibels?

SRAger HT Teradr ¥ FIT AT AT 82
Options:

1) Haemoglobin in the blood

gt H g

2) Sugar in urine

ERICE=RICE T

3) Sound

eafar

4) Particle in the air

arg & o

Correct Answer: Sound

eafa

Candidate Answer: Particle in the air
arg #H HoT

QID : 87 - The balloon filled with Hydrogen gets burst when it goes up because

BISZISTT F HRT 795 T IR a1 H FUL AR e Sl

e
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Options:
1) the weight of Hydrogen increases
EISSISTeT T 9 96 SATaT &
2) Air pressure increases
a1 & 9 STl &
3) Hydrogen pressure decreases
ETSSISleT T &T9 T STl &
4) Air pressure decreases
aTg ale Ee Sl &
Correct Answer: Air pressure decreases
a9 &9 T S §
Candidate Answer: Air pressure increases
arg & G STl &

QID : 88 - Which crop is helpful in Nitrogen fixation?

Aot REUSHoT 7 Sl d o TeR 67
Options:

1) Rice

qrael

2) Wheat

3) Legume

Hell (F9YH)

4) Corn

AFS

Correct Answer: Legume
il (FTIH)

Candidate Answer: Rice
dldel

QID : 89 - What is the most responsible factor for plant diseases?

9T 97 FT Y SecReR— FR Hie &7
Options:

1) Fungus

wRE

2) Bacterium

Sfrarey

3) Virus

farop

4) Protozoa

EICEIE

Correct Answer: Fungus
e

Candidate Answer: Bacterium
Sfraror

>
QID : 90 - In which form of energy, problem of pollution doesn’t happens?

31T & o &9 & TENOT I TEEAT G @i &7
Options:

1) Coal

R

2) Atom

3

3) Petrol

§

4) The solar

E

Correct Answer: The solar

%

Candidate Answer: The solar

-

QID : 91 - The primary consumer in an ecology chain is:

el TR S 3 ST ssiirer § |
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Options:
1) Producer
3cqIgeh
2) Vegetarian
2TRTERT
3) Carnivorous
ATEERY
4) Decomposer
qucesh

Correct Answer: Vegetarian
QATFTERT

Candidate Answer: Producer
EIGED

QID : 92 - The control panel is a part of. in the Computer System.

FHogeT H FUCT Jver T 1T 81T ¢
Options:

1) Hardware

QEERES

2) Software

HlFeaRR

3) Printer

Bex

4) Hard disk

AR sd

Correct Answer: Software

AIFCaR

Candidate Answer: Software
e

QID : 93 - "Bull Fighting" is the popular sport of which of the following country?

‘gl Brsféar Feafafla & fr aer 1 ool W 82
Options:

1) Spain

[

2) Canada

hellsT

3) Scotland

THICHE

4) Japan

sG]

Correct Answer: Spain

e

Candidate Answer: Canada
Shellal

QID : 94 - Which of the following has written "Ashtadhyayi"?

"reerearll” Ao fad 7 fordeh @ § ?
Options:

1) Patanjali

EGEICE

2) Paniini

qIfoifer

3) Kautilya

FifeeT

4) Bharadwaj

HREarsT

Correct Answer: Paniini

arforfer

Candidate Answer: Patanjali

qastter

QID : 95 - Central Government have approved the investment for how many states under the 'Atal Mission for Rejuvenation and Urban Transformation' (AMRUT)
scheme in the year 2017?

T 2017 H Fog WFR o 'HTo FRATHT TG UG 0T fA2eT (AMRUT) Fratell & ofgd fovcter Tl 1 fovdrer &1 #Aordr &7 82
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Options:
1)6

2)8
3) 10

4) 12
Correct Answer: 6
Candidate Answer: 12

QID : 96 - J. A. Fleming is the inventor of which of the following?

. U Faifdr Rrafaf@a & & fras snfasers £2
Options:

1) Wireless Telegram
IR el

2) Diode Bulb

SIS Jod

3) Photo Electric Effect
T sehTer e

4) Radium

A

Correct Answer: Diode Bulb
SIS Jod

Candidate Answer: Radium

FSEE

QID : 97 - The place Maghar is related to which of the great personality ?

FAGR ATHF TAT hE FETTET § Haiferd o7
Options:

1) Kabir

FeR

2) Buddha

g

3) Mahavira

HEER

4) Gurunanak

ERTIGED

2

Correct Answer: Kabir

FER

Candidate Answer: Gurunanak
ERGIGED

)

QID : 98 - Who was the first woman who received the Jnanpith award?

FAANS TEHR FIC e Alell TUH Higell Hied A2
Options:

1) Mahadevi Verma

FEIEET g

2) Amrita Pritam

3T A

3) Mahashweta Devi

HgTRdar &dr

4) Ashapoorna Devi

JATRITYOTT &

Correct Answer: Ashapoorna Devi

TR &t

Candidate Answer: Mahadevi Verma

FgTEdY gAT

QID : 99 - Which country of Asia launched rail service to London in 2017?

av 2017 7 TRIT & FRT G2  Tege de Lof AT g Hr?
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Options:
1) Kazakhstan
FATfehEdleT
2) Israel
EGNER)
3) China
Gict
4) Russia
Lz

Correct Answer: China
oy

Candidate Answer: Israel
EGNER]

QID : 100 - Who is the current king of Bhutan?

ST & FTHIA T Hiet 67

Options:

1) Sangye Dorji

IR GReH

2) Jigme Dorjee

9H eRal

3) Jigme Singye

Sva e

4) Jigme Khesar Namgyel Wangchuck

TSR WER ArHTaTe aieeg

Correct Answer: Jigme Khesar Namgyel Wangchuck
Candidate Answer: Jigme Khesar Namgyel Wangchuck
TSo8 WX ArATarer aiegh




